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Outcome 1 - The Vocabulary of Probability 2 corner
Using the vocabulary of probability, describe the Impossible
outcome of the following events... _* Certain p
J. The total score on & You will eat at J—
two die is more some point Sy
than 12. G b this week. S I ad
April will have more The sun will not
cstanger . e
than 31 calendar ‘. rise fomorrow =
days next year. Ere morning.
China will join the [- &0 Christmas day will be on the
European Union. 25 December next year. 1
Z  Picking an odd number 8  April will follow i
from1,3,5,7,9. = March next year. it
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